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Seat No.: ________                                                     Enrolment No.______________  

 

GUJARAT TECHNOLOGICAL UNIVERSITY 
DIPLOMA ENGINEERING – SEMESTER – II • EXAMINATION – WINTER 2015 

 

Subject Code:3322902 Date:28/12/2015      

Subject Name:Weaving Technology-I 

Time:2:30PM TO5:00PM Total Marks: 70 
Instructions: 

1. Attempt all questions. 

2. Make Suitable assumptions wherever necessary.  

3. Figures to the right indicate full marks.  

4. Use of programmable & Communication aids are strictly prohibited.  

5. Use of only simple calculator is permitted in Mathematics.  

6. English version is authentic. 
 

Q.1  Answer any seven out of ten. 14 

 1. State objects of winding.  

 2. Define rewound weft.  

 3. State the function of slub catcher.  

 4. State different types of wind.  

 5. State different package faults in pirn winding.   

 6. State different primary motion loom.  

 7. State the function of secondary  motion in loom.  

 8. State the function of  lease rod.  

 9. Define eccentricity ratio.  

 10. What is early shedding?  

    
Q.2 (a) Explain different types of tensioner. 07 

  OR  

 (a) Explain electronic slub catcher. 07 

 (b) Explain any two defects in winding with their causes and remedies  07 

  OR  

 (b) Explain splicing in winding. 07 

    
Q.3 (a) Explain advantage of rewound weft over direct weft.  07 

  OR  

 (a) Explain automatic pirn winding machine with neat sketch. 07 

 (b) Explain negative tappet shedding  motion  with neat sketch. 07 

  OR  

 (b) Explain over pick motion with neat sketch. 07 

    
Q.4 (a) Explain seven wheel take up motion with neat sketch.  07 

  OR  

 (a) Explain negative let-off  motion with neat sketch. 07 

 (b) Explain loose  reed warp protector motion with neat sketch. 07 

    
Q.5 (a) Calculate production of  loom in yards and meter from the following data. 

Speed = 200 rpm, efficiency = 80%, picks per inch = 66, time = 8 hrs. , 
07 

 (b) Calculate production of winding machine par day in pound and kg. per day 

from the following data. 

Speed = 1500 ypm, efficiency = 75%, no. of spindle = 60, count = 60 Ne. 

07 

 

************ 
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ગજુરાતી 
પ્રશ્ન. ૧  દશમ ાંથી કોઇપણ સ તન  જવ બ આપો. ૧૪ 

 ૧. વ ઇડીંગન  હતે ુલખો.    

 ૨. રિવ ઉંડ વેફ્ટની વ્ય ખ્ય  આપો.  

 ૩. સ્લેબ કેચિન  ક યો લખો.  

 ૪. વ ઈન્ડ્ન  જુદ જુદ  પ્રક િ લખો.   

 ૫. પનન વ ઈન્ડડીંગન   જુદ જુદ  પેકેજ ફોલ્ટ લખો.  

 ૬. લમૂની જુદીજુદી પ્ર ઇમિી મોશન લખો.  

 ૭. સેકન્ડડિી મોશનન  ક યો લખો.  

 ૮. લીજ િોડન  ક યો લખો.  

 ૯. એસેન્ડટિીસીટી િેશીયોની વ્ય ખ્ય  આપો.   

 ૧૦ અિલી શેડીંગ એટલે શુાં?  

પ્રશ્ન. ર અ ટેન્ડશનિન  જુદ જુદ  પ્રક િ સમજાવો. ૦૭ 

  અથવ   

 અ ઇલેક્ટ્રોનીક સ્લેબ કેચિ સમજાવો. ૦૭ 

 બ વ ઇન્ડડીની ગમેતે બે ખ મીઓ તેન  ક િણો તથ  ઉપ યો સ થે સમજાવો.  ૦૭ 

  અથવ   

 બ વ ઇન્ડડીમ ાં સ્્લ ઈસીંગ સમજાવો. ૦૭ 

પ્રશ્ન. ૩ અ ડ ઇિેક્ટ્ટ વેફ્ટની સ પેકે્ષ િીવ ઉન્ડડ વેફ્ટન  ફ યદ  સમજાવો. ૦૭ 

  અથવ   

 અ ઓટોમેટીક પનન વ ઈન્ડડીંગ મશીન સમજાવો. ૦૭ 

 બ નેગેટીવ ટેપેટ શેડીંગ મોશન આકૃતી સ થે સમજાવો. ૦૭ 

  અથવ   

 બ ઓવિ પીક મોશન આકૃતી સ થે સમજાવો. ૦૭ 

પ્રશ્ન. ૪ અ સેવન વ્હીલ ટેક અપ મોશન આકૃતી સ થે સમજાવો. ૦૭ 

  અથવ   

 અ નેગેટીવ લેટ ઓફ મોશન આકૃતી સ થે સમજાવો. ૦૭ 

 બ લજૂ િીડ વ પન પ્રોટેક્ટ્ટિ મોશન આકૃતી સ થે સમજાવો. ૦૭ 

પ્રશ્ન. ૫ અ નીચેની વવગતો પિથી લમૂ નુાં ઉત્પ દન વ િ  તેમજ મીટિ મ ાં શોધો. 
સ્પીડ=200 rpm , ક યનક્ષમત =80%,વપક્ટ્સ/ઇંચ=66 , સમય= 8 કલ ક  

૦૭ 

 બ નીચેની વવગતો પિથી એક રદવસનુાં વ ઈન્ડડીંગ મશીનનુાં ઉત્પ દન િતલ 
તેમજ કી.ગ્ર . મ ાં શોધો.  સ્પીડ=1500 ypm , ક યનક્ષમત =75%, સ્પીંડલની 
સાંખ્ય = 60, ક ઉન્ડટ=60 Ne                     

૦૭ 

 


